Differentiation Rules
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g’ (x) = ff@l@ where g(x) is the inverse of f(x)

Trigonometric Functions:
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Inverse Trigonometric Functions:
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Exponential & Logarithmic Functions:
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Properties of Definite Integrals:
[Efxdx =0 [ @) = [f fdx + [ f(x)dx

[LF0) = =[] f(x)dx

Integration Rules

xn+1

[x"dx = +C

n+1

[ef()dx = c [ f(x)dx

JIF() + g@®)ldx = [ f(x)dx + [ g(x)dx
Trigonometric Functions:

[sinxdx = —cosx+C

[cos xdx = sinx+C

ftanxdx = —In|cosx| + C
fcotxdx =In|sinx| +C

[secxdx =In|secx+tanx|+C

[escxdx = —In|cscx + cotu| +C
[ sec? xdx = tanx + C

[ esc? xdx = —cotx + C

[secxtanxdx = secx+C

fcscxcotxdx =—cscx+C

Inverse Trigonometric Functions:
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= -sec 1|—a|-+C
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Exponential & Logarithmic Functions:
[e*dx =e*+C
: 1
[a*dx = (m) a*+C

f%dx =In|x|+C




FORMULAS FROM GEOMETRY

Triangle Trapezoid b
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Sphere Cylinder
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Circle
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